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(P(X=18) (1

P(X=18)=(2018)(18)18(78)2~=8.075x10-15
(P(X=3) (2

P(X<3)=P(X=0)+P(X=1)+P(X=2)+P(X=3)=(200)(18)0(78)20+(201)
(18)1(78)19+(202)(18)2(78)18+(203)(18)3(78)17

(P(1<X=3) (3

P(1<X=3)=P(X=2)+P(X=3)=(202)(18)2(78)18+(203)(18)3(78)17=0
4984
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(103)(15)3(45)7~0.2013
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P(X=3)=1-P(X<3)=1-(P(X=0)+P(X=1)+P(X=2))=1-((100)(15)0(4
5)10+(101)(15)1(45)9+(102)(15)2(45)8)=0.322
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P(X=3)
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P(X=0)
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(103)(15)0(45)10=0.1074

X~B(20,0.25)P(X=3)=(203)(0.25)3(0.75)17=0.134=
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P(X=3)=1-P(X<3)=1-(P(X=0)+P(X=1)+P(X=2))=1-((200)(0.25)0(
0.75)20+(201)(0.25)1(0.75)19+(202)(0.25)2(0.75)18)=0.025
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P(X=20)=(2020)(0.25)20(0.75)0~9.09495x10—13
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E(X)=np=20(0.25)=5
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(X~B(40,0.2) (11
E(X)=np=40(0.2)=8Var(X)=np(1-p)=40(0.2)(0.8)=6.4
(X~B(280,0.4) (12
(X)=np(1—-p)=280(0.4)(0.6)=67.2E(X)=np=280(0.4)=112Var
(X~B(48,16) (13
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(X)=np(1—p)=48(16)(56)=6.67E(X)=np=48(16)=8Var
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X~B(12000,0.09)E(X)=np=12000(0.09)=1080=
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